Chapter 6

Case Study: Nokia Moves to Establish Industry Standards
1. What are the key assumptions implicit Nokia’s business strategy? Are they reasonable?

Answer:  Key assumptions include the belief that Nokia can establish an industry standard by giving away Symbian software. The strategy is reminiscent of the Microsoft strategy of licensing its operating system to anyone in order to establish a large user base to encourage software developers to design software for Windows-based computers. Once established, Nokia is expecting to be able to provide online content for smart phone users. The strategy requires Nokia to expand its handset market share to provide a platform on which the Symbian software can be used. The strategy requires that Nokia competitors, such as Google’s Android and Apple’s I-phone, will be unable to establish standards before Nokia can. The strategy also presumes that Symbian software is superior to competing technologies and that they can earn enough money from collecting fees for providing handset based services to recover the cost of the acquisition of Symbian and earn Nokia’s cost of capital.  Nokia also is assuming that the market for such content will continue to increase rapidly. The strategy probably is unrealistic since it is not in their competitors’ interests to do so (See the answer to question 2). Furthermore, it is unclear if Symbian software is indeed superior to competing software.

2. What are the key assumptions implicit in Nokia’s implementation strategy? Are they reasonable?
Answer: The successful implementation of the Nokia business strategy of establishing Symbian software as the standard operating system for all wireless handsets rests on Nokia’s ability to recruit other handset manufacturers, service providers, and consumers faster than competing platforms such as Android and the I-phone. Already other handset manufacturers are backing these competing platforms which raises doubts about this key assumption.  The presumption that other handset manufacturers will embrace the use of Symbian software is probably unrealistic in that such a move would only strengthen Nokia financially. This would make Nokia an even more formidable competitor. Moreover, other handset manufacturers would be vulnerable if they became totally reliant on a competitor’s software, and it was not well received by consumers or software application developers.

3. How did Nokia intend to make money from as a result of these strategies? Be specific.

Answer:  Nokia would make money based on its ability to establish Symbian as the industry standard software used on smart wireless handsets. Once established, software developers and content providers would be encouraged to develop products and services that could be delivered to this large user base. Symbian would then receive a share of all subscription-based services delivered in this manner.

4. How are Nokia’s competitors reacting to Nokia’s strategy? Why?

Answer: Nokia’s competitors were already backing other handset operating software providers in order to minimize their risk that Nokia would be unsuccessful in becoming the industry standard.

5. What options does Nokia have if their strategy is unsuccessful? Be specific.

Answer: Nokia could choose to license its software as has Microsoft. However, this would be impractical unless Symbian software is clearly superior. Also, Nokia could sell Symbian to recover a portion of their original investment and license Android or I-phone software, if Google and Apple would be willing to do so.

